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General Instructions :
Read the following instructions carefully and follow them :

()
(1)
(iii)
(1v)
(v)
(vi)

(vii)
(viii)

(i)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section — A : Macro Economics

Section — B : Indian Economic Development

This Question paper contains 20 Multiple Choice type questions. Each
question carries 1 mark.

This Question paper contains 4 Short Answer Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

This Question paper contains 6 Short Answer Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

This Question paper contains 4 Long Answer Type Questions. Each
question carries 6 marks. Answer these questions in 100 to 150 words.
Attempt all parts of a question together.

In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

There ts no overall choice in the question paper. However, an internal
choice has been prouvided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

1. Identify, which of the following is not to be considered while estimating

Revenue Deficit of a country. (Choose the correct option)
(A) Wages and salaries paid by the government

(B) Interest payments made by the Central Government

(C) Direct Tax Collection

D)

Expenditure incurred on construction of flyover

2.  Read the following statements : Assertion (A) and Reason (R). Choose one
of the correct options given below :
Assertion (A) : In case of public goods no one can be excluded from

enjoying the benefits.

Reason (R) : Public goods are non-rivalrous and non-excludable in nature.
Options :

(A)
B)

©
D)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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3. WA HaYd = — Head] TN 1 G | 1
(ST G 31 qfd o oTe H& e 1 =1 )
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(i) Torht — =i 4 uftad
(iii) IeaTE H1 g
(iv) (ScaTiea 3ehTSAT <hl TAT) X (e Jidl 3hTE)

faeeg
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4. TH oo, foret sreierawen ¥, wrr 3UHET 3 100 S B 99T et 3T T 130 HUS

g Ia UM m g 3 U B | (T foehew g Tk v <l gfid W 1) 1
(A) 30 (B) 80
(C) 100 D) 130
5.  HIH o TG o 3T, ] Ho foig § TH X 45° HI0T W = ST 2 | 1
(@ forepe grn fieh o &1 fid = 1)
(A) UM TR (B) THU HIT 5k
(C) Heu T (D) e ask
6. v Fdearn A mfgs fifa g gfawfea fismdi 2
@@ T g i wmAigfdsi ) 1
(A) HET THR (B) T HqHN
(C) W fiwrd S D) favads

7. 3 % GG &R < Yo I UTH ok [ Jomied I yned % "
THAT g =1 | (Foeh werm <Al gfid < fore @it ferepea st =@ 1 1) 1
() Ty H, g9 i
(i) G99 A, §Ed

(iii) Tum T, few
(iv) s=q, fem
ferepey -
A) @) (i) B) @ (@{v)
(C) (i) ¥ (iii) D) (i) T (v)
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Value Addition=___ — Value of Intermediate Consumption. 1
(Choose the correct option(s) to complete the stated formula.)

(1) Domestic sales

(11) Sales — change in stock

(i11) Value of output

(iv) (Number of units produced) X (Price per unit)

Options :
(A) (1) and (i1) (B) (i1) and (ii1)
(C) (1), (1i1) and (iv) (D) (@i1) and @(v)

4. Suppose for an economy, autonomous consumption stands as ¥ 100 crore
and total consumption is ¥ 130 crores. The value of induced consumption

would beT ___ crore. (Choose the correct option to fill up the blank) 1
A 30 B) 80
(C) 100 (D) 130

5. In the Keynesian Economics, _ starts from the origin and is always drawn
at an angle of 45°. (Choose the correct option to fill up the blank) 1
(A) Consumption curve (B) Aggregate demand curve
(C) Reference line (D) Investment curve

6. The monetary policy is formulated by the in the Indian economy.
(Choose the correct option to fill up the blank) 1
(A) Central Government (B) State Governments
(C) Reserve Bank of India (D) World Bank

7. To arrive at the value of equilibrium level of income, there must exists an
equality between ex-ante and ex-ante

(Choose the correct option to fill up the blank) 1
(1) Aggregate Demand, Aggregate Supply
(i1) Aggregate Demand, Savings
(i11) Aggregate Demand, Investment
(iv) Savings, Investment
Options :
(A) (@) and (i1) (B) (@) and (iv)
(C) (1) and (ii1) (D) (ii) and (iv)
58/2/3 ~ 5|Page E&_,E' P.T.O.



8. 98 §ui¢ ¥k 37aild, HThR 3194 gRI Ushid UoRa o SUeR UM 0 L Hehdl &, 3H

HTE HET AT & | (@l fehen g Tk werm <61 gfid = 1)
A) ARRM (B) =
(C) wqferd (D) IFrEEhifaer

9. fTraforfaa oMt — arfimpem (A) 3T SHROT (R) &1 31eqaq &t | e fompedi T @
Teh T2 faeheq ol == i
Fftpem (A) @ 3fe Hiwrd s=a gt =61 am 0.5 8, @ diura sudm gt e aed
ftr o e At |

HRO(R) @ i U Y @ Hiwia s Saf o1 9 ded 396TE o seR g1 § |

ﬁw:

(A) AR (A) I RO (R) HI TT & I HRUT (R), IINHYT (A) T T&
TR 2 |

(B) IfFHH (A) 3R B (R) THI T &, Tg SR (R), AR (A) T T
TR TR B |

(C) e (A) I &, 9 HROT (R) 36 2 |

(D) THH (A) 3 8, g HROT (R) TR |

10. Shih S F &l yRAEfeddw & sl gt s e 2 |
(@t forehew g Tk worm <6l gfed =t 1)
(A) S FTRT <t TR | wfafaat i el 31 feshr
B) TS sehi o =Te] @Il TEH
(C) ISR T T THTNGH o YT
(D) TIHM e B G s

11. (a) “TWR YI: GWIGRE €9 8 B Ak o8 RRe, armg, afeu ofe w
31Ty I%q T TaT R (GST) SR Lt 7 1”7
ST U H STd TR So1C 63T hi U&= o AT . |

YT
(b) & T T (T HiweeRR SRR) o g (Th bl HifoTsh), T WM o HIe &

Ty h1 ey § F9H-319 INTeH T ==l @ 8 | W gfd a9 2 8,00,000
SHATAT &, TFeh SR0T 37 TRt 1 vl 7 | g ek o UK 1 forsht ot o 3 T
H (GST) THEA HEd! & TUT IHBT JIAH HLdt 2 |
fom T T % MR W TEE L o, THYT Seyet SRt 312ET STICIE hL ShT I T
TE1 2 | Q1 L Tehl o HEg J¢ Il <hl SHTET . |
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The budget under, which the government may spend an amount equal to

the revenue it collects is referred as Budget.

(Choose the correct option to fill up the blank) 1
(A) Surplus (B) Deficit
(C) Balanced (D) Deflationary

9. Read the following statements : Assertion (A) and Reason (R). Choose one
of the correct options given below : 1
Assertion (A) : If the value of Marginal Propensity to Save is 0.5,
Marginal Propensity to Consume will be equal to Marginal
Propensity to Save.

Reason (R) : Sum of Marginal Propensity to Consume and Marginal
Propensity to Save always equals to unity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

10. As the Banker to the Bank, Reserve Bank of India performs all functions
except . (Choose the correct option to fill up the blank) 1
(A) Purchase and sale of securities on behalf of general public
(B) Maintaining current account for Commercial Banks
(C) Clearing and settlement of Interbank transactions
(D) Facilitating governmental transactions

11. (a) “The government generally levies higher Goods and Services Tax (GST)
on socially undesirable products like cigarettes, tobacco, liquor ete.”
Identify and explain the indicated government budget objective in
the above statement. 3

OR
(b) Two friends Ramesh (a software engineer) and Pihu (a bakery

owner) are discussing their contribution to the nation’s economy
through tax payments. Ramesh earns ¥ 8,00,000 per year, which
makes him liable to pay income tax. Pihu pays Goods and Service
Tax (GST) on the sale of cakes and pastries.
On the basis of the given text, identify whether Ramesh is paying a
direct tax or an indirect tax. Explain valid differences between two
types of taxes. 3

58/2/3 ~ 7|Page ElE P.T.O.
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12. Hifgsh Hehel iG] IATE I TRATNT i | 98 Fhd JehR arafaes Tehet Tie] IcTE &
=2 2

13. #H <fif foh, foreft areferaeen & fofw s % 2,000 e & Ffgfia fFaw & @y
SATH! | o6 FioT <6l Gt TiEemIst 1 T Wt § | 7 e T, o1 1 gig
80% ITNNT T ¥ fohalT ST # |
ITIRH T o MR R, FeferRad 1 srgue @

(a) 3T H Ui (AY)
(b) 39N § uitadH (AC)

14. (A) feuwwe fam & snur w, [y gafsra i ge =1 Fefa @ % foe awd wwer
NI 3TYTT ST Gl STl Shed| ohi ST h |

e : Frferfa sea e gftanfera et & foe w7 g@n 14 FRERE )

(A) FAderaey § =g gerehifa f fRuf o1 Fefa ww % o, awr g s o
Hepd aTeA Tortt Teh Tetenie Hifarra 3umr Y samen =i |

(B) ‘Geft ITSIR TS’ I TRUTYA i |

15. (a) ﬁtr%ﬁaama?rmaﬁamtﬁzﬁ
() Tereht sreierereen § qg1 MY wieh =X 1 ISEWR |
(1) e Soh TR i A= ik Tard Jem a2 |
JpE
(b) Tereht preufier Sreferaen & fofu w7 AMT gU 6, =i S mfaa SruTa
20% T TETH 25% T AT & AT el Mk ST AR T 1,000 % |
iTfSeh sieni GRT |G FoT TR STRAEA STITA H Jfg o THTel hl TR 0t |
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12. Define Nominal Gross Domestic Product. How is it different from Real
Gross Domestic Product ? 3

13. Suppose for an economy, government proposes two investment projects for
construction of expressways with an additional investment of ¥ 2000
crore. Assuming, 80% of increase in income is spent on consumption.

Estimate the following on the basis of above information :
(a) Change in income (AY). 2
(b) Change in consumption (AC). 2

14. (A) On the basis of the given image, explain the steps which may be
taken by the Government of India to control the indicated macro-
economic issue. _ 3

(B) Define ‘Open Market Operations’. 1

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 14.

(A) Explain any one fiscal policy measure that can be taken up by the

Government to control the situation of inflation prevailing in an economy. 3
(B) Define ‘Open Market Operations’. 1

15. (a) Justify the following statements with valid arguments :

(1) Money supply in an economy is an example of a stock variable. 2
(i1) The Central Bank provides several Banking services to the
government. 2
OR

(b) Assuming for a hypothetical economy, Central Bank increases the
Reserve Ratio from 20% to 25% and the total primary deposits stand
at ¥ 1,000.
Explain the effect of rise in Reserve Ratio on credit creation by
commercial banks. 4
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16. fr=faifaa e w1 ey 31e i
YA Hde (BoP) Ush fifvaa wwamafy  foreft sreferawen & 3w fava & @y anfis
TH-A1 ! AR &9 B R HAT R |

BoP ! §@&: & @dl H afiehd {1 ST 7 :
° e @idl
. ‘iﬁf’f@'lﬁT

1] W fopet sreieawen 9 31 fova o offer aeqat, Tanst, 3T 9 SaTvT o g&ATael
HIYAT § | e @1 999 9 3759 @id & off faurfor femam < @ | 399 @ | axgei %
Tt o 3mmTa | TEi o - aftferd B1d § |

31T WA | i =k Ao

o  TR-HWH YA I AEAT, Uitaed, S| 31fe |

o H 3w i fafaw § w8 yow aftrfera T a2 |

o o o et <t urferfies o Frew s e R |

4Sft @rar 9w fove w forf gl # yg witarda 1 gwfar 2 | Gf @ 1 gea: < aifr
T favfora feram St aehan 2

o TR- VATE S VI T W s

o R YATE Y STEI GERId], STUITsaeh YR, (e ST 31l |

ST T 1 AT HE I AF I ST 7, S TR T =1 T 81 Hebll @ | THI Y TR
H B TeT gita <91 o SIS HER § B gl e § uferférd g § |
Source : https : // mospi.gov.in/109-balance — payments

(adopted and modified)
IUTh T I T [ b 3TTUR R feforfigd wodi o 3ot e

(a) AT | I T b |
(b) YT T < QM @Il o HE 3T T Y, |
(c) TAH TeH o E1e T 31 T Tfed amd |
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16. Read the following text carefully :

Balance of Payments (BoP) systematically summarise, the economic
transactions of an economy with the rest of the world, over a given period
of time.

The BoP can be broadly divided into two accounts namely :
o current account
° capital account

The current account measures the transfer of goods, services, income and
transfers between an economy and rest of the world. The current account
may be sub-divided into merchandise account and invisible account.
Merchandise account consists of transactions related to export and import

of goods.

In the invisible account, there are three broad categories :

° Non-factor services such as travel, transportation, insurance etc.

. Transfer which do not involve any value in exchange.

o Income which includes compensation of employees and investment
income.

The capital account reflects the net changes in financial claims on rest of
the world.

The capital account can be broadly broken up into two categories :
. Non-debt flows such as direct and portfolio investments.

. Debt flows such as external assistance, commercial borrowings, non-
resident deposits etc.

The sum of the two accounts indicates the overall balance, which could be
either be in surplus or deficit. The movement in overall balance is
reflected in changes in international reserves of the country.

Source : https : // mospi.gov.in/109-balance — payments
(adopted and modified)

On the basis of the given text and common understanding, answer the
following questions :

(a) Define Balance of Payments.
(b) Differentiate between the two accounts of Balance of Payments.

(¢) Give the meaning of Balance of Payments deficit with formula.
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17. (@) () TAfaRiad kel LR T, | A W Fhat TP 3916 (GNP ()

ST I T ;
af¥r
o AT e
R % H)

(1) | Fsf sifaw e == 2,000
(2) | T 3k Juar = 1,500
(3) | Tenat T fer dsft oy 1,000
(4) | wf® HaiEd (3f8) 400
(5) | Tt 4Sh 1 3UHM 50
©) | foger & e fact s 3™ 100
(1) | g 3T L 200
®) | & fEE 700

(i) EFTcHe STRIAT3T o FOTTcH STRIAT3l § 3Tt T8 & |
et
(b) (@) e T F H, AT By feSms e I H 7 TAT Th g IR

fora 3 | foshl & ot 9 99 & e Sem wes forets asfia, spuer, se o
T 559 TohU & | 3 eft oreqd hug oM < fofu 311aws & |
et g sh TR TTe |TaT ot 3ifom seqati o weadt awgaT § 9 SRl g
Ffiehd e |

(i) “ueh Tg-2nreh rdferawen #, UG 39 Ued Te] 3™ Y 31Ty Bt B |
HI=I qehi g SURE e ST THYA 372aT @ed & |

58/2/3 ~ 12|Page @Q,El

e



17. (@) (1) On the basis of the data given below, estimate the value of
Gross National Product at Factor Cost (GNPp() : 4
Amount
S. No. Items
R in crore)
(D) Private final consumption expenditure 2,000
(2) Government final consumption expenditure 1,500
3) Gross domestic fixed capital formation 1,000
(4) Addition to stock 400
b) Consumption of fixed capital 50
(6) Net factor income from abroad 100
(7 Net indirect Taxes 200
)] Net Exports 700
(i1) Differentiate between positive externalities and negative
externalities. 2
OR
(b) (1) Gauhar, has recently completed her fashion designing studies
and started a boutique. To produce dresses for sale, she
purchased various materials, including a sewing machine,
fabric, buttons and thread. These items are essential for
producing the dresses.
Classify the material purchased by Gauhar as Final or
Intermediate goods, giving valid reasons in support of the
classifications. 4
(1) “In a two sector economy, National income is always more than
Domestic income.”
Defend or refute the given statement with reasons. 2
58/2/3 ~ 13|Page E@E‘ P.T.O.
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i 3ffes fawm)
18. BA o aut H, gt Ia%hi i AISHT ok 37T @TdT @it o 1T Sicanfad fopan
IR | (feh T <t gfd < fore @it forepea s A 6t )
(A) - AT B) -3 A
(C)  FH-F=AT AT (D) H-ART IS

19. femm e o= 1990-92 o Iua, W Jreiegemen § ! TS < S HLaT 2 |
(feeh T <t gfd o foru @&t forepea s A 6t )

AR Ffeg 3R TeheT T I 1951-2012 (%)
10+
9 8.7
81 78
71 7 58 61 6.1
6 A
54 3.4
| 36 42 4.8
4 28 3.3
2— 199 184 173 189
140.39 1.12
0 T T T T T T T T T T 0 I28 1
1951-56 1956-61 1961-66 1969-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012*
GDP —l U=WR
Note : *This is the period for which comparable and authentic data are available.
(A) HEEA BT SRR (B) SHEA hl TR
(C) USFEH &g (D) HREA T NIRRT

e : fretera we e gfeei wdenfi & e /R sen 19 F _E R |
et feufa fmes siaria s srederaeen fomm Usvm # gfg & anfdiss gfg wma st 2,

HEA 3 | (et fershed gr Tk wore <6t gfid =6 1)
faweg :
(A) HESH T FHIATRERIHTT (B) e Bl AR
(C) TSFIEN wqfg (D) IS I STETEHIHTT

20. TrferRaa et 1 eamYe Te o :

HUT 1 : T T Y o HEY % IGHAT o BT, SR IEE o FGIT hl a0l
faad mit g g 2 |

HYT 2 : TIAORUT Eehe q9 3 BIAT 8, IS HHTEH] o Shuul i T HETEHT &
TS T G T I BT 2 |

feu 71w e o amem w fforiiaa 9 & Tt foshea 94

(A) FH1TALINFA23AR | (B) F 1 EA S AN FYT 2T 3 |

(C) HH 13M 2T | (D) W 1371 2 THT A F |
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18.

19.

20.

SECTION -B
(Indian Economic Development)

In recent years, all the adults are encouraged to open bank accounts as a
part of a scheme known as

(Choose the correct option to fill up the blank) 1
(A) Jan-Dhan Yojana (B) Jan-Aushadhi Yojana
(C) Jan-Soochna Yojana (D) Jan-Arogya Yojana

The given chart indicates the problem of in the Indian Economy,
post 1990-92. (Choose the correct option to fill up the blank) 1

Growth of Employment and Gross Domestic
Product, 1951-2012 (%)

,_.

< ®©o

A
o
-1

78
57 58 61 61

34

3.6 12 . 18

199 184 173 189

O = Wk Ot
P S S M S S

0.28

T T T T T T T T T T T

195156 1956-61 1961-66 1969-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999.2005 2005-10 2010-2012*
GDP —— Employment

Note : *This is the period for which comparable and authentic data are available.

Options :
(A) Informalisation of Workforce (B) Casualisation of Workforce
(C) Jobless Growth (D) Formalisation of Workforce

Note : The following question is for the Visually Impaired

Candidates only in lieu of Q. No. 19.
The situation under which an economy attains economic growth without
corresponding rise in employment is known as .

(Fill up the blank with correct option) 1

Options :
(A) Informalisation of Workforce (B) Casualisation of Workforce
(C) Jobless Growth (D) Formalisation of Workforce

Read the following statements carefully : 1

Statement 1 : Environmental concerns of waste generation and pollution
have become critical, due to reversal of demand and supply relationship.

Statement 2 : Environmental crisis happens, when the rate of resource
extraction is less than that of regeneration of resource.

In the light of the given statements, choose the correct option from the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both statements 1 and 2 are true.

(D) Both statements 1 and 2 are false.
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21. 39 Wd/FGHR IT(C ol Wdd T H T i It Hfeh HEAd @ | 1
(ks T <ht qfd < foru @it farepe w1 =@ i )
(A) A HHAN /TS AT B) 3t fEe 79
(C) Tiafa Aol = (D) w@-ffsa

22. Y forqur ue vt wfsken 7, frem iy awgati @ Tftiferd g & | 1
(ks T 1 gfcd vt <k fote Tt forehe <t =@ L 1)
() Tt (i) TEER
(iii) G (iv) ofem
forpey -
A O a) B) (i) 9 (1)
©) @), (ii) ¥ (iii) D) (i), (iii) T (v)
23. 39 foramr Wt ameniea 2 fop, T 9 womeea e e o 31fi= 3 | 1
(feeh T <6t gt vt o fore @it foreme w1 =@ ot 1)
(A) HHE qEEA (B) ¥4 fah™
(C) wHa gSft (D) aies T
24. FHNH ___ T-3UHF % TR Gol IR H {61 o for Ieorfed woe ol dgfHa sware | 1
(A) STFTERRT B) fafaefeo
©) fefrermsrm (D)  FegfrehishTen
25. frefcrRad el 1 e 3T W 1
HIT1 : 1978 H, HRE YW HI WAt & o1 =fFama et l BrR-B1R @i |
ferurore sheeh fem mam o |
HYT2 : FHR FTEAT b A, UG Bl B K T HRgd W fore rfior sement |
ity fepa ST o |
few mu s 3 amum o Feforlaa o & wEt foeheq <4
(A) FH1TIZINFAT23EIE|]  (B) HYT 1 IHAZIINFHAT2TF R |
(C) ¥ 132 T T | (D) YT 13N 2 SHT FAHA S |
26. 37 foehedt 1 == o, ST fob T 3TN Senfiteht <t w1firhT 1 SR A 2 | 1
() RO foermE YeM T
(i) T gra iy
(iii) U SENfTEhT & IR H ST RT TR T

ICET I
(A) T () (B) T (ii)
(©) () 3R (i) M) @), (i) 3 (ii)
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21. __ are the people who operate their own farms / enterprises.
(Choose the correct option to fill up the blank) 1

(A) Hired Workers (B) Casual Wage Workers
(C) Regular Salaried Employees (D) Self-Employed

22. Agricultural marketing is a process that involves the ____ of agricultural
commodities. (Choose the correct option to fill up the blank) 1
(1) Privatisation (1) Processing
(111) Assembling (1v) Grading
Options :
(A) (1) and (i1) (B) (i1) and (ii1)
(C) (), (i1) and (iii) (D) (i), (i) and (iv)

23. __ 1is based on the idea that education and health are integral to
human well-being. (Choose the correct option to fill up the blank) 1
(A) Human Resource (B) Human Development
(C) Human Capital (D) Economic Development

24. ___ of agriculture refers to production of crops for sale in the open
market rather than for self consumption purpose. 1
(A) Commercialisation (B) Diversification
(C) Digitisation (D) Modernisation

25. Read the following statements carefully : 1

Statement 1 : In 1978, commune lands were divided into small plots to the
individual households for cultivation.

Statement 2 : Under commune system, professionals were sent to work
and learn from the country side.

In the light of the given statements, choose the correct option from the following :
(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both statements 1 and 2 are true.

(D) Both statements 1 and 2 are false.

26. Identify, the options that emphasize the role of information and
technology. 1

(1) Achieving sustainable development
(1) Attainment of food security
(ii1) Disseminates information regarding emerging technologies.

Options :
(A) Only (@) (B) Only (1)
(C) () and (1) D) @), (1) and (1i1)
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27. Tafafad suar — e (A) 9 R (R) 1 31w | Fefafed foeeai 8 3w
2! farehed T == L :
AR (A) @ i GUR & 3Faia, YRG TR g1 fopet =afh o s it =am
T =1 3TeRR ferfia femam mam e |

SROT (R) ey win fufor 1 3ev Y- Taiied o1 $ g1 § higd ai & TehHT o7 |

ey

(A) AR (A) I FROT (R) HT T & 3 HROT (R), 3BT (A) T T&
TR 2 |

(B) AR (A) 3R FHRO (R) SHT T &, W] SR (R), 3heH (A) &1 T&l
TRl TE 2 |

(C) Tepe (A) I ], g SROT (R) 36 2 |

(D) 3RHHYUT (A) 3T B, T HROT (R) TA 2 |

28. (a) WEN I T SHI h UTH 3194 ©d 9 | N1 4 S HN IIgshAl H fawr fomam,
MY BT 1 Tk TG I 3 AIGU I FGT I, YaT JaEH, hie Fm
JATTE o TaTTH qehl T TR0 Y T |
Srafeh, e 3 3=1d HiY T, = yorelt 3 3= uEET T Sl o R W
it farer fopam |
AT 379 39 910 & TgH & foh, qrfmr 3 wa Ooft # Faer fopam 2
310 I TR H W= HR0T S |

e
(b) “wfmet smfdsm, fafrcfa smyfdam a s smfdam w == 9m7a i 3
3TTeep ferehTar <6 fAmToT o S wEEdT AT g |7
FAT 37T IUARE HYF Y TEHA & 7 3T I o THA H 7= b Tl i |

29. < gRI 3TUATE T qred Jeur fattor Hifa w6 wfer v 6t |

30. (a) “Br o fedi # fafi= Smnett o fifaa & arerm @ YR TR 4 Teaet /90 9
TSHTR G o foTu Hewaqel vget <l @ |”
HT=T <Iohl o |1 STITH HU <l IfY |
JAyar
(b) “wﬁwmﬁmﬁﬁamwﬁqﬁg&ww@m
credit) SR 3Tfd I @ & 17
FAT 379 U T HoF | TEHA & 7 379 I b THA H ¢ HIT TR e |
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27. Read the following statements : Assertion (A) and Reason (R). Choose one
of the correct options given below : 1
Assertion (A) : Under the land reforms, Indian government fixed the
minimum land size which could be owned by an individual.

Reason (R) : The purpose of land ceiling was to avoid the concentration
of land ownership in a few hands.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

28. (a) Medhya and Danish both had their own farms. Medhya invested in a
few agricultural courses, learnt modern farming techniques and
trained her labourers on best practices related to soil fertility, crop
management, pest control etc.
Whereas, Danish invested heavily in, by purchasing advanced
farming machinery, irrigation systems and high quality seeds.
Do you agree that, Danish had made investment in human capital ?
Give valid reason in support of your answer. 3

OR

(b) “Expenditure on preventive medicine, curative medicine and social
medicine helps in building human capital and economic

development.”

Do you agree with the given statement ? Give valid arguments in

support of your answer. 3
29. Briefly explain the dual pricing policy adopted by China. 3

30. (a) “In the recent times through various schemes and policies, the
Government of India has taken wvital initiatives to generate
employment directly / indirectly.”

Justify the statement giving valid arguments. 4
OR
(b) “Micro credit programmes have been very helpful in supporting rural
development and improving livelihoods in India.”
Do you agree with the given statement ? Give valid reasons in
support of your answer. 4
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31. feu MU rferei < SMUR W, WRA F I § HRie & @0 9 30h Tohel Jod e H

feeterl sh1 g Y |
2018-2019 & TSATR 3T GVA (%) T & 379
o GVA &I qigH SRS I T
YRa | 9N | wifkeaw | YRa | oW qiferEa™
Y 16 7 24 43 26 41
T 30 41 19 25 28 24
Har 54 52 57 32 46 35
A 100 | 100 100 100 | 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and Pacific

2019.

32. fsfesr s et & S, s o feresh smar <ht fesm o afmmr i s =t |

33. (@) (@

(ii)

(b) @

(i1)

“gTd Shifd ol TR i & foTT MR TR A IaTh! W 3USH T fepan

o7 |7

39 YhR o IUGH o U1 H fohegi g1 U= bl ol TieTd SRt i |

“8 TS, 2021 I Th @ & AR, YR TR 4 TR 3fean § o

100% Teetrert st forsht ot & | R e & ot weemues 2T 59 3 Sl

iRt T ATEH T 3 18,000 IS § 63 feharm |

(1) YA THR g 33T 39 sheH 6l T8eH i |

(2) ETHR NI UESH U el ] FRATd o o foheal gl dlehl sl Jooi@
L |

JAYCT
“1991 % I, foeeht &k o guri < Hror fageht g1 varg o e o
G5 I”
SHIh He T 94 dhi gRT B |
“FISHT G b G HESh & I AT FATTae T T fereht
e 6T TE ot |
YA TR gRT 33T T heH o HID o deh bl TeTTud e |
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31. On the basis of the given data, compare and analyse the Distribution of

workforce and its contribution to Gross Value added in India and China.
Sectoral Share of Employment and GVA (%) in 2018-2019

Contribution to GVA | Distribution of Workforce
Sector India |China |Pakistan |[India |China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific 2019.

32. Explain, the volume and direction of foreign trade during the British rule.

33. (@) () “To promote green revolution, the Indian government provided
fertilizer subsidies to the farmers.”
Briefly explain any two arguments in favour of such subsidies.
(1) As per a news report dated, 8th Oct. 2021, the Government of
India sold its entire 100% stake in Air India. Tata sons, the
original founder of Air India won the bid and purchased the
airline for ¥ 18,000 crore.
(1) Identify the step taken by the Government of India.
(2) State any two ways in which identified step can be
executed by the government.
OR
(b) @) “After 1991, reforms in external sector led to an increase in
foreign exchange inflows.”
Justify the given statement with valid argument.
(11) “During the planning period, public sector was given a
dominant role in Indian Economy.”
Justify the rationale behind this step taken by the Government
of India.
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34. Tr=ferfad mer o erYEE JTe W

STy URE d e FEar o U el 4e |, e dRes ' W ee
3TeRNa fohar 2 | forra ot #, fova § witeget Sovamy eifera wensti § gfg srgya 1w
2 | 3 TR 37hT, STEd Hedl, §1¢, e, Ted Hggl a2, HTehidsh Ot d faurer &
TATRRT T WAt &9 § U1 Afeford § | STt # 370 o ol ge1sti § Rt gfg
B W R | 38 wedl #, urhia Y Tk Heegel e % w9 3w el 2 | ged
AT 3 B Tl § 7, S IqwH STavEsharat i qfd sd g wiess i fifext  foe
TETHAT <l G St B | gehT 319 2 6, U@ 3UT 31aemT S fop warteror <t T i F,
TER Hhi W R F0 A &, T T fH 1 HICTTH TIFT HJ & TAT FYh
o mmfstes 3niies T gifvaa € |

T T AROTR FR TgRRi v ¥, gl 37 3 o] T i Y qer §
T: 31k TEM BT @ | ek iy, Wié Fetarg debieh, 3nygfen RS el S
RO JoTd TRY | HE S Hehell ®, U0 o cdTeehdl o TATER0T TEU H YR hich
ErefehTioreh T Yg it & | gow 9 Frwrre focfia faeheat o o &y weneti 8
ST T s T o foTT gL T HOAT & &1 T8 |

gafore, amefi ford i T ae qafeRr 3% TS S MicaTed &, Sfew ag ot
gifeaa e =anfen foh Srexare et i forcfia gemem 3uery & |

Source : https://website.vbi.org.in/web/rbi/-/speches — interview/financing-

for-sustainable-agriculture (adopted and modified)

I T o AT T o 3R ) feferiiad gei o I e :

(a) gl foehre &t aftam € | 1
(b) “SITaTy THEITST o GHIUH o foTT gRufia HiY Ul €9 8 IWH IRA 2 1”7
AT 37T IYURH HY T TEHA & ? 379 I b THLT H HI=T BT T hi | 3

(c) TR <l YReaT o ToTu STATS 1 Hehl aTett fohedl Qf amofi yenafi I Seor@ i | 2
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34. Read the following text carefully :

Climate change and sustainability of environment are two pressing issues
that have captured global attention. In recent years, the world has
witnessed a surge in extreme weather events including severe droughts,
cloud bursts, floods, land slides, receding coastlines and the alarming
melting of arctic ice and Himalayan Glaciers. Wildfires have become more
frequent and intense.

In this context, sustainable agriculture emerges as a crucial solution.

This refers to those farming practices that meet today’s requirements
while preserving resources for the future generation. This means adopting
methods that protect the environment, reduce dependence on chemical
inputs, efficiently using water and land and ensuring socio-economic
equity for farmers.

On one hand sustainable agricultural practices are necessary, on the
other, they are often more expensive to implement compared to
conventional methods. Sustainable practices like organic farming, climate
— smart technologies, modern irrigation system may seem costly upfront,
but they offer long-term benefits by improving productivity, and
environmental stewardship. Without accessible and affordable financing
options, the much needed shift to sustainable farming practices will
remain a distant dream for many.

Therefore, sustainable finance should not only promote eco-friendly
practices but also ensure that financial resources are available to the
farmers who need it.
Source : https://website.vbi.org.in/web/rbi/-/speches — interview/financing-
for-sustainable-agriculture (adopted and modified)
On the basis of the given text and common understanding, answer the
following questions :
(a) Define : Sustainable Development.
(b) “Sustainable Agriculture emerges as a crucial solution to the
environmental concerns.”
Do you agree with the given statement ? Give valid reasons in
support of your answer.

(¢) List any two sustainable practices that can be adopted to safeguard
environment.
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